SRR BEIVWEEALETE
PRZHIED N VEHEETHE
R ED W BRI ETHE

RieHsE (B55)

R TIED L\ ETEALER



FRHRBRXDESNSBUSE RER

P63 R Y—EXDRAHE

&5

FHE

STEDRRBERE
BY—EXADRAHE « BRDIIERE

H2OGE H30EE (H30.12.315%)
EOE | o = | BRH | s :
0% | miEE | ®iEE | D000 | REE | RER
_ BE/A] 1,190 | 1,405 |118.1%| 1,611 | 996 | 659%
BRERT—EX MBI 1001 123 [1230%] 127 113] 890%
P64~68 BLEBRY—FA0EAHE
HoORE Ha0RE (H30.12.315%)
20N | e | mEw | 00 | s | iER
P AB/B| 3,000 | 2187 | 72.9%| 3,200 | 1,961 | 61.0%
aITs Bl 150 181 [1207%| 176 181 11028%
H2OGE H30EE (H30.12.315%0)
EOE | o = | BRH | s :
0% | miEE | ®iEE | D000 | REE | RER
. - AB/B| 40 3| 75%| 40 0l 00%
guaﬂﬁﬁ (wﬂEnJ"ﬁ) }\/g 2 1 500% 2 O OO%
HoOBE Ha0RE (H30.12.315%)
: 20N | e | miEm | 00 | e | iER
AB/B| 330| 155| 470%| 260| 139 | 535%
BIZaliR (LBl ABL 30 17| 567%] _ 20 18| 900%
H2OGE H30EE (H30.12.315%0)
EOE | o = | BRH | s :
0% | miEE | miEE | S0 | REE | RER
e AB/B| 308| 81| 263%| 280 79| 282%
BBEB1IE el 11 10 909%] 10| 10 [100.0%
H2OGE H30EE (H30.12.315%0)
EOE | . = | BRH | s :
0% | mEE | miEE | D000 | REE | RER
— AB/B| 300| 84| 280%| 300| 70| 233%
WIBITRE ANBL 161 16 [1067%] 16| 13| 86.7%
H2OGE H30EE (H30.12.315%0)
EOE | . = | BAH | mes :
0% | miEE | miEE | D000 | REE | RER
RETELE NBL - - — 0 ol -
XEREHSOTHEES
HoORE Ha0RE (H30.12.315%)
20N | e | mEw | 00 | s | iER
O, O,
o o | ]UB 0 T g0 s
eegeee . AB/B| 2,437 | 1,901 | 780%| 2,800 | 1,613 | 54.0%
AR (B2 ANBl 125] 175 1400%] 150 176 1117.3%
H2OGE H30EE (H30.12.315%0)
EOE | o = | BRH | s :
0% | miEE | ®iEE | D000 | REE | RER
EENE Bl 10 9| 900% 10 9| 900%
HoORE Ha0RE (H30.12.315%)
20N | e | mEw | 00 | e | iER
AB/B| 375 279| 744%EE0) 585 | 760%
HAR (Y3— k251 e
o (o]
8/B| 25| 39 |1560% Rl S0k

1/4




FHEERRPESSEUFE RERSESE FHE FEORRBERE
BFY—EADRAHE - BRDOHSRSF

P70~71 EBERXRY—EADRAHE

H2oEE H30EE(H30.12.31 57
BT | g | BEE | ce :
200 | e | mmw | 2D | mmE | miEk
EUEEER N - - 0 ol —
XERIN SO EES
HooRE H30EE (130123157
N RiRE | 2R . HiEE | EfER
AR
HE DR A/B %%cf; 00 | 90.0% . 00| 86| 956%
(T =T k=12 0% 6%
HooRE H30EE (130123157
20N | e | mEw | 00 | e | iER
BEATT=E Al 56| 66 [1179%] 65| 65[1000%
P72 1BMIEY —C2DEAHE
H2oEE H30EE(H30.12.31 57
200 | e | mimEw | SDY | mmE | miER
TORASE Bl 97| 418 [4309%| 100 | 401 [401.0%
IR T 2 1B INIE 3 1] 333% 3 0l 00%
e B NIZ 3 ol 00% 3 0l _00%
P73~74 BESZESEOSAHE
H2oEE H30EE(H30.12.31 57
EEREMRE ool | i | mEE | 2L0 | Rl | REE
PERERE EREES| 20| 41 2050%| 40| 33| 8256%
EESNREERESE _ B _ _
XERENSOFAES S 0 0
gﬁ'ﬁjﬁ%az wRmES| 14| 23 |1643% 25| 37 [1480%
e ERE EREES 0 ol — 0 o] =
EERRERESIE EFAEH 0 0 — 0 0 —
HoofRE H30EE (130123157
20N | e | mEw | 00 | s | iER
BERENSE Al 16| 33 [2063%] 25| 381520%
— H2oRE lgﬁsoggmso.m.sﬁﬁm
Fal
AR | e | i | D00 | wee | s=ms
EEHT PRI o8 A i
EABDLEEBERT S Al - - - 0 o| -
J—T 4 R=AI—0DfRE
XERENDOFIHED

2/4




FRERR PR EBUFTE

RIRHRSEE

P75~80 MiBEBEXESEDRAHE

FHE

STEDRRBERE
BY—EXADRAHE « BRDIIERE

FooRE HE0RE (30123150
20N | e | mEw | 00 | s | iER
ERICETE - RS 5% & 5 = 5 5 =
— FooRE ﬁgoggmsojzmﬁm
I == bs ﬁl =3 <
0% | mEE | miEE | D000 | REE | RER
RN EE 5% & 5 — 5 5 —
R . H2ORE lggso&lg(Hsoj 23180
B T . : T | mge :
0% | mEE | miEE | D000 | REE | RER
B ENAREsE BB 4 3| 750% 3 3 [1000%
BRSNS Er YT — a3 1 0 00% 0 o —
T T DR 3 3 [1000% 3 3 [100.0%
EEA AT B a3 3 3 1000% 3 3 100.0%
— FooRE ﬁgoggmsojzmﬁm
I == bs ﬁl =3 <
0% | miEE | miEE | D000 | REE | RER
RERRRENAS R AN 9 5| 556% 7 6| 857%
FooRE HE0RE (30123150
20N | e | miEm | 00 | s | iER
BERBIESARRSEES B/ 6 4| 667% 16 13| 81.3%
S . H2ORE lggso&lg(Hsoj 23180
BB T . : TH | e :
i _ 0% | miEE | miEE | D000 | REE | RER
;gggﬁ - BIRELS t/El 170| 121| T12%| 115| 87| 757%
FEARERESE BT 0 o — 0 o —
R . H2ORE I%C%OEJE(HSOJZ.S‘IIEE)
':%‘ ; =mo1 ,H\E =+ 3 .:E,Hﬂ £ 3
0% | miEE | ®iEE | D000 | REE | RER
i - JERERE B/ 5 2 | 400% 3 7 [2333%
ErEERERS H/E] 19 7 368% 11 3] 27.3%
CCRESSERS H/Z] 10 9 900% 6 8 [133.3%
1B - EERASERS /20 31 1560% 7 11 [157.1%
RSB ERS /5| 1,460 | 1,660 |106.8%| 1,600 | 1,657 | 103.6%
S g ] T 2 1 500% 4 o0 00%
e EEATEeE — FooRE I%%O%E(HSOJQ.SHEE)
EESERTHE o3 _ : Eoi - :
0% | miEE | ®iEE | D000 | REE | RER
EREAHEN NE . 30 16 | 53.3% 0 o —
. H2ORE ﬁésomgmsoj 23180
T . : T | mge :
0% | miEE | ®iEE | D000 | REE | RER
e — ANE| 850 | 645| 759%| 800| 503 | 629%
/& 5,600 | 3487 | 62.3%| 5,000 | 2,682 | 53.6%
. H2ORE ﬁésomgmsoj 23180
T . : T | mge :
0% | miEE | ®iEE | D000 | REE | RER
WEREIREC Y — 1 | BEm 1 1 [100.0% 1 1 [100.0%
e s=8] 160 | 171 [1069%| 174 | 171 ] 983%
WEETRECYS—1 | 2N 0 ol - 0 ol -
T SRaN 0 o = 0 o =
WREDRET Y —1 | B2 0 1 = 0 0 =
A ERaN 0 1T = 0 0 =




FHEERRPESSEUFE RERSESE FHE FEORRBERE
BFY—EADRAHE - BRDOHSRSF

(#%) P75~80 MSEFZESEDRAHE

e—— H2oRE H30EE (H30.12.3157)
; EIUE | wpe | BEE | wee (
(ZOMOSL) SO0 | =i | miww | BL0 | mE | wiEE
e R ~B| 8| e| Tiox| 6| 6| 958%

EiEZIEEE
(FREABT—E2) A B 6 3| 500% 3 3 1000%

SRHRAAS

g%ﬁ_ﬁﬂfgﬁ%gﬁ ANE| 170| 188| 929%| 190| 152 | 80.0%

P8O EHNRDFEE « FETHZESFOMA_—_—XICDT

FF—— |H30FEH30.1231%0)
ZERE
2(A
S 2 2 2 [100.0%
REm 6 7 8 [114.3%
RECCOh 3 z 2 [100.0%
e AT A S 5 5 5 [100.0%
XEREDSOHHES

4/4




